Treated Pine Swingbed Assembly Instructions

Hardware Tools
Hammer

7/16 wrench

12- 1/4x31/4" carriage bolts 9/16 wrench

12- flange nuts
4- 3/8"eye bolts ( 5”long)
4- 3/8"lock nuts
8- 3/8"flat washers
4- lengths of chain ( 7’long)
(all 4 chains go all the way to the ceiling)
4- Connecting links (used to hook chains to eyebolts)

Please read through instructions before beginning assembly.

Note: One of the holes in the front arm post is larger for the eye-bolt.

Fasten the back to the seat. Only the bottom bolts should be installed at first. Then attach the arms to the

seat and then to the back. (With only the one bolt, this will allow the back to swivel, like a hinge). Only put one
or two turns on the nuts until everything is attached. After attaching the back of the arm to the swing back,
then go back to the bottom of the back and insert the top bolt of the two holding the seat and back together.
These bolts are intended to be a tight fit. You may need to wiggle them in, or if needed tap lightly with a
hammer. After putting them in, go back and tighten all the nuts.

Eyebolts go through
the arm and the back 4
support 5

HHHHH

fa — = N Eyebolts go through
/ —— —7 \ /the arm and the seat support.

1- 3/8 flat washer on the inside

" -

( j@

1- 3/8 flat washer on the outside



